Day 11 Notes KEY

Thursday, January 22, 2015 7:13PM

p—

fek
A few more Eﬁa&'ﬂb@. .

D cos(tar( 23] @arcoin[sin(F)]  @cos™ [cos (-£)]

cos (30°) ZE( Sin™! ( g—)zm coS”'( %):45%‘—;?

$.7 - More Inverse

\ANAANAN

@5:»/\[!8 cos“(é)J @tanflzsm"(‘é)j

_ (1J0>
e
cin[18(%)] tan[12 (-Z)J Z
gin(em)=sinizw)=|0] tan (-2m) = tan(2mw)= 7+ =[0]
1 "
coterminal
Another type of probLem. -
Find an equivalent aigebraic expression.
© cos (sin™'x) (D cos (tan™' x) cot (aarccosx.)
‘ a?+x? = | A | $x2 =2 b2+x* =]
X X, X% =h
A a?=1-x2 h= \/T:;Tz’ 5 bop=fT-x*
ﬁ az=.ﬁ_jx—l_ X
I -x2 X
Cbse = cot® —
00892[:(7_,—] — JTIZ— Vi-x=

Let 'S think abountT |nverse mphs

{g‘; S)hXZ%dDmam 5: SN~ x
Tsye E

2 - 2

Day 11 Page 1



L

~R)

T

| 1 ! { } + -
-7 -T m 27T ' ‘
% no asym ptobes -I
bwt -ﬁ':?&d are z
both BOUNDE
M: mmx) y= 52 |Y=arctanX]
coS
*domarn
| ( I _4_)(_4, 121-
AL
HNOrHO - res
|--' | SQIJH\P’DD o ____—n-/z__ .
| [ me ol
| L o b@honi”_urgg@s
— —} + t +——— asym ! —
2 v | T ar é/_“/ )
)
bl _ I R
I - - “/2

! '

Day 11 Page 2




